
USN

v overheampo

*1+ z-
**-itr,""r

$'_ -.',,,- 
-3 . ,**;;, r--

d

oo
o
d

d

d

o
CO
(,)

!-p.=
.y5
69

=r)'oo 
ll

coo
.54
d$

9dotrdoEf

oB
8*
3g
o6)
do

botr
(gd

P6
ls,-dd
-?a)'Es

a8_

oj

9:65()atA
EE
ko
6.2>'*
c' bo

(.):5
:*9
:o
:>,
U<
-i 6i

o
oz
d
!
o.

a. Explain with the help of a neat
scheme indicating the standard

b. With neat diagram, explain F
c. The towers of height

water crossing. The hopfgo*ltdl distance between the*tower is 500m. If the tension in the
conductor is l600kg,Jihdklte minimum clearancp"tffie conductor and water and clearance
midway between the'Sfipport weight of conductbffih l.skg/rn, Bases of the towers can be
considered to be atqyater level.

*WE

nductors are placed in horizontal plane as shown in

-+l'+ ?'9A,

tr,i*, 
->lFig Qa@)

1.25crlr. if the line length is 100km, calculate :

(ii) Charging current per phase. Assuming complete transposition
(06 Marks)

.=:-*s I of 2

unsymmetrica[Wbine. e.'"ff* #Yir (06 Marks)
b. Explain the c@pt of (i) Self G -e4f 

Mutual GMD- *d 
(04 Marks)

lagrank De
cafiryr$ine.
cdwpFi of t

e Idtluctanc
b. Explain the c6rypFt of (i) Self G "e D Mutual GMD.' w 

(04 Marks)
c. Calculate th6llitluctance of eaqlr ilWuctor in a 3 q$fle 3 wire system when the conductors

are an4rfulci-in a horizontal ffi with spacingffirat D3r :  rr\Dn: Dz3:2ny the
condprffiare transposed add*!}Hne a diameter offim. (06 Marks)

;$
d..\

Rry
expressffir capacitance of a 3 phase over head line with
sDacms. (loMarks)Iw

iir.

The conductor diariieter is

(i) Capacitanffi. phase

of the line- \J
s

ffiffiffiffi

consldered to De A.tVater level. d (08 Marks)
,%ei.q *o
'k

2 a. Explain ;ffid"n ages or (i) ACSR-a#i,, ooo. iii) zrAr iv) GTACSR
(v) GffiACSR (05 Marks)

b. With,' 'iiiagram 
derive a e*p.eiffi for the sag wheryliffiupports are at equal heights.''*.,::=: - - 

_:_" ..].,;y (05Marks)
c. Explain the classification of Insiilators? Define,#$g efficiency? Mcthods of improving

string effrciency. ==*.*=*s *_- ,'F ' r*]ff' (06 Marks)
'rr'i'ffi 'l' ;-ffi

"or - r 
*"*J

ffi" proau$* d
3 a. With neat diagraq develop ao e*prrssiffiInductance*@ phase over head line with

rrra,,,*'-a*i^^l m*Jhi-- $;' 
\ws a'*l**\f
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d

3"ffifr neat diagranry-Q

'#1 dymmetrical andpqgpsl

b.=" A 3phase, 50Hz*6ff*
Fig Qa(b)*@
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Module-3 *$%
Show how regulation and transmission effrciencV gr_e d&tefoined for medium transmission

line using nominal T method. Illustrate your answeiwith suitable vector diagram. (05 Marks)
5a.

b.

10 a.

b.
c.

A 3 phase, 50H2, 150km line has a resistan$.i ive reactance and capacitive shunt

admittance of 0.1C),0.5O and 3 x 10-6 S peffiperphase. If the line delivers 50mW at

l10kV and 0.8pf lagging. Determine the lepdffind voltage and curreQ. Assume a nominal
.t '. q. ::w /n O n/f --1.^\

'end

m circuit of the line. - e ':# . ;: (08 Marks)
,h- 4.:{ f' -.*,:,. Y

c- Differentiate the tlpes of over head trar{&hisiion lines. tY (03 Marks)

6 a- Develop the Generalized c
nominal T method.
Find the following for
110kV and p.f 0.8 laggi
(i) Sending end voltafu"ry (ii) Sending eftffiirrent (iii) Sending end power
(iv) Efficiency of n.;

nsmruEs

.r""ryE*- oR
Defure reliability, power Quality.
Limitations of Distribution systems.
Explain the effect'of disconnection of natural in a 3 phase four wire system.

jii- '!
ii alSI /

''n: ,F * t( ,1. rlc

Given A = D =.€"98+1* B = l10l_75" O, C =$,-=Q005 IEU Siemen. (08 Marks)
'. # -";;l*#".'='' *ofr#"-r--&:l 

-

7 a. What ip.&I8tra? What are the factors r,fltrictr afflect Corona? (04 Marks)

b. rxpffi:ti&'foilowing terms with*.ffience to corona ffi*='im*+} d .@4 :i '; "W

(ii) Visual critical voltage- # =*=5 (06 Marks)

c. Describe the various meth8ds ofreducine coroma ffiaf in an overhpaddansmission line.

,],.:$fl d:# 
ry* -.* (06 Marks)

:r::. lffituj. ::iMP-- @ gWd *-k*8 a. With neat diagrffi;6how the variouspa#oThigh voltage.sidble core cable. (04 Marks)

b. Define Gradiqffibles, Analyze cdb*pfiance Grading. '' (08 Marks)

c. Write the co@rison between ac ffidc cables. (04 Marks)

", d #1*""""-' *=;+,!

",J@ ;q,,*'It.*-"+ Modute-S Q-=9 a. Witlfis€#diagram, exphffi&oncept of A_C diptiibutor. With concentrated loads.

# esffiw \ (08 Marks)

b. "A sfngle phase ac distiib&tbr AB 300 mele is fed from End A and is loaded as under

*W il 100A at 0.7$%#lagging 200m fttfrpoint a
%m " ii) 200A 

"t Sffi{edsging 300mtom point a- 
The load reght#rrB and reactaruffikpf the distributor is 0.2O and 0.1O per kilometer.
Calculate th&ffial voltage drok'i*-!he distributor. The load power factor refer to the voltage
at the far 6fr8#,* (08 Marks)

q ..:=

(06 Marks)
' (07 Marks)

(03 Marks)
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